N —

Nownkw

8.

9.

10.
11.
12.

FAR WESTERN UNIVERSITY
FACULTY OF MANAGEMENT

Office of the Dean
(Mahendranagar, Kanchanpur)

BBS Entrance Test (2077)

Instructions

Read the following instructions carefully;

Full marks of this test is 100 and it must be completed within 90 minutes.
Fill up the necessary information in the space provided on the cover of the question sheet and on the answer
sheet.

Do not forget to write your Roll number on the answer sheet.

There are 100 questions and each question carries one mark.

Answers are to be marked on answer sheet only, which is provided separately.

Each question has four option marked {a, b, c and d}.

Choose the correct option and darken the circle completely, corresponding to {a, b, ¢ or d} against the relevant
question number. No other indications are allowed on the answer sheet and question paper.
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Student should return the answer sheet along with the question paper.

Rough work, if any, is to be done on the question sheet only. No separate paper will be provided for rough work.
Students are allowed to use simple calculator but no mobile phone is permitted inside the examination hall.



English

Directions—(Que no.1 to 5) For each of the following capitalized words, four words or phrases are given of which
only one is synonymous with the given word. Select the synonym.

1. DEFER

(A) Respect (B) Dislike (C) Postpone (D) Disrespect
2. DUBIOUS

(A) Clear (B) Undoubtedly (C) Hesitant (D) Doubtful
3. COARSE

(A) Impolite (B) Rough (C) Polished (D) Improper
4. PROXIMITY

(A) Nearness (B) Aloofness (C) Completely (D) Nearly
5. ABSTAIN

(A) Stay (B) Tempt (C) Refrain (D) Pardon
Directions—(Que no. 6 to10) Fill in blanks by selecting appropriate alternative.
6. I met him only a week ..........

(A) back (B) past (C) ago (D) previous
7. Lovey asked me ..........

(A) why are you angry ? (B) why I am angry ?

(C) why I was angry ? (D) why was I angry ?
8. Even after repeated warnings, he ......... to office on time.

(A) never come (B) never comes (C) is never coming (D) have never come
9. He told his wife that ......... from Germany.

(A) he will like to visit France (B) he was liking to visit France

(C) he would like to visit France (D) he is liking to visit France
10. Some people can ......... even with murder.

(A) geton (B) get out (C) get off (D) get away
Directions—(Que no. 11 to 15) Choose the correct antonym from the choices for each of the following capitalized

words—
11. INDIFFERENT

(A) Curious (B) Varied (C) Alike (D) Uniform
12. DISCREET

(A) Wise (B) Diplomatic (C) Prudent (D) Careless
13. OBSOLETE

(A) Free (B) Ancient (C) Current (D) Cultured
14. RATIONAL

(A) Sound (B) Insane (C) Judicious (D) Sensible
15. SCEPTICAL

(A) Doubtful (B) Convinced (C) Questioning (D) Cinic

Mathematics

16. A vendor bought toffees at 5 for a rupee. How many for a rupee must he sell to gain 20%?
(A3 B) 4 ©) 5 (D)6

17. If the digits of the numbers 572 6 4 8 9 are arranged in ascending order, how many digits will remain at the
same position?

(A) None (B) One (C) Two (D) Three
18. 60 is 80% of which number?
(A) 60 (B) 72 <75 (D) 80
19. A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had:
(A) 588 apples (B) 600 apples (C) 672 apples (D) 700 apples
20. A student multiplied a number by 3/5 instead of 5/3. What is the percentage error in the calculation?
A) 34% (B) 44% (C) 54% (D) 64%
21. The square root of 64009 is:
(A) 253 (B) 347 (C) 363 (D) 803
22. A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?
(A) 3.6 B)7.2 (C)8.4 (D) 10
23. The sum of 5x + 3y and 4x - 2y is
(A) 6x + 5y (B) 5x - 8y (C) 8x +4y D) 9x +y
24. If -4x + Sy is subtracted from 3x + 2y then the answer will be
(A) 3x + 6y (B) 2x + 5y C)x-3y (D) x + 3y

25.1f a=20,b =35 and ¢ =5 then (4a + b)c is
(A)23 (B) 115 (C) 53 (D) 43



26. The median of 7, 6,4, 8, 2, 5, 11 is

(A)6 (B) 12 ©) 11 (D) 4
27. Number which occurs most frequently in a set of numbers is..........

(A) mean (B) median (C) mode (D) Percentile
28. If the mean of 6 numbers is 41 then the sum of these numbers is...........

(A) 250 (B) 246 (C) 134 (D) 456

29. The probability of getting an even number if a card is drawn from a box containing 12 identical cards
numbered 1, 2, 3, ...... J20Seiieiiiiiiann.

(A) 12 B) 15 (C)25 (D) 1/6
30. How many angles are there in a quadrilateral?
(A1 (B) 2 ©)3 (D)4

31. If 200 students filled the form for entrance test and 180 appeared in the test out of which only 70% have
passed the test then the number of students who failed the test are

(A) 68 (B) 54 (C) 58 (D) 65
32. The product of 46 and 2/4 is

(A) Y ®B) /5 (©) 1/6 (D) 173
33. The Highest Common Factor of given numbers 72 and 56 is

(A7 B)3 )2 (D)8
34. By solving the equation 2a - 2 = 20, the value of 'a' will be

(A) 12 (B) 14 ©) 11 (D) 13
35. If two angles are said to be supplementary angles and one of the angle is of 122 ° then the other angle is of

(A) 35° (B) 58° (C) 60° (D) 32°
36. The angle which is less than 90° is called

(A) reflex angle (B) acute angle (C) obtuse angle (D) right angle
37. In the following number sequence 40960, 10240, 2560, 640, the next three numbers in the sequence are

(A) 300, 150, 50 (B) 200, 90, 10 (C) 160, 40, 10 (D) 180, 60, 20
38. Which of the following is meaningless.

(A)XII (B) XIX (D) XVV (D) XL
39. The numbers having two factors are called........

(A) Even (B) Odd (C) Prime (D) Composite
40. The distance covered along the boundary of a rectangle is called its

(A) area (B) perimeter (C) length (D) breadth

General Knowledge

41. Hitler party which came into power in 1933 is known as............

(A) Labour Party (B) Nazi Party (C) Ku-Klux-Klan (D) Democratic Party
42. Filaria is caused by........c.cccevveenne

(A) Bacteria (B) Mosquito (C) Protozoa (D) Virus
43. Which of the following is not associated with the UNO?

(A) ILO (B) WHO

(C) ASEAN (D) All of the above
44. Permanent Secretariat to coordinate the implementation of SAARC programme is located at.........

(A) Dhaka (B) New Delhi (C) Colombo (D) Kathmandu
45. Who was the first to use "Jay Nepal?

(A) Dasharath Chand (B) Shukra Raj (C) Ganga Lal (D) Dharma Bhakta
46. Which Indian state shares the longest border with Nepal?

(A) Uttar Pradesh (B) Uttarakhand (C) Bihar (D) West Bengal

47. With which of the following items is the trade name ‘Bishwokarma’ associated?

(A) Iron steel (B) Cement (C) Brick (D) Tampo
48. To which trade is Sweta Khadaka related?

(A) Acting (B)Singing (C) Dancing (D) Retailing
49. With which sport Som Pal Kami is associated?

(A) Football (B) Badminton (C) Karate (D) Cricket
50. The brand name ‘Santro’ is associated with

(A) Telivision (B) Computers (C) Car (D) Motor cycle
51. The author of Doshi chasma is?

(A) Buddhisagar Chapain (B) B. P. Koirala

(C) Narayan Wagle ( D) Chetan Bhagat
52. Which country is ruled by a single dynasty for more than two thousand years?

(A) China (B) Bhutan (C) Japan (D) Denmark

53. Which of the following rivers flows from Nepal to Bihar?
(A) Gomati (B) Baghmati (C) Ganga (D) Brahmaputra
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When did Nepal join UN?

(A) 1984 (B) 1955 (C) 1948 (D) 1976
Input device is used ..........ceueeneen.

(A) to enter data (B) to process data (C) to display data (D) all of above

Business and Economics

Which of the following is not a soft drink company?
(A) Glaxo (B) Coca cola (C) Pepsi cola (D) Druk
The process by which an asset becomes worn out or absolute is known as.....
(A) Bankruptcy (B) Disinflation (C) Disinvestment ( D) Depreciation
Which of the following statement is correct
(A) Asset - Capital=zero (B) Capital + Liability-asset= zero
(C) Capital+Asset —Liability=zero (D) None of the above
An example of personal account is-
(A) Machinery Account (B) Purchases Account

(C) Prepaid Expenses Account (D) Stock Account

‘Which of the following is not a factors of production?

(A) Land (B) Labour (C) Capital (D) Machine
The father of New Economics is:

(A) Marshall (B) J.M.Keynes (C) Adam Smith (D) Karl Marx
The regulatory mechanism of the market system is:

(A) Self-interest. (B) Private property. C)Competition. (D) Specialization.
In economics the central problem is:

(A) Money. (B) Scarcity. (C) Allocation. (D) Production.
...... cost are also known as Imputed Costs.

(A) Opportunity (B) Marginal (C) Total (D) Historical
Higher the price of certain luxurious articles, higher will be the demand, this concept is called...............
(A) Giffen effects (B) Veblen effects

(C)Demonstration effects (D) Both B & C above

............. defined economics as a study of mankind in the ordinary business of life.

(A) Adam smith (B) Lionel Robbins

(C) Samuelson (D) Alfred Marshall

Which of the following is not a private sector undertaking:

(A) Ncell (B) Subisu Cable Net

(C) Agriculture Input Corporation (D)Surya Tobacco

According to which concept the owners are considered to be different from the business?

(A) business entity concept (B) going concern concept

(C) money measurement concept (D) accounting period concept
Which of the following is related to Scientific system of maintaining account?

(A) single entry (B) double entry (C) contra entry (D) book entry
Interest earned is a..........

(A) personal account (B) real account

(C) nominal account (D) Intangible real account
Which of the following assets have definite physical share or identity and existence?

(A) fictitious assets (B) current assets (C) tangible assets (D) intangible assets
Which ratio measures the number of times the receivables are rotated in a year in terms of sales?

(A) stock turnover ratio (B) debtors turnover ratio

(C) creditors velocity ratio (D) working capital turnover ratio

Which is not examples of operating system.

(A) Linux (B) window xp (C) Samsung (D) Unix
The brain of computer system is ..............

(A) Memory (B) Input unit (C) ALU (D) CPU
With which of the following items is the trade name ‘Everest’ associated

(A) Biscuit (B) Spices (C) Noodles (D)Chocolate
‘Let’s make things better’ is the slogan of.............

(A) Nike (B) Philips (C) Panasonic (D) Nokia
Who is the regulator of Commercial banks in Nepal?

(A) Security Board (B) Nepal Government

(C) Nepal Rastra Bank (D) Nepal Stock Exchange

To which country the market index NYSE belong?

(A) Nepal (B)Pakistan (C) India (D) USA



79. Account which represents owner of the business is:

(A) Drawing Account (B) Creditors Account
(C) Furniture Account (D) Sales Account
80. The owners of a joint stock company are known as:
(A) Partners (B) Directors
(C) Shareholders (D) Suppliers

Logical reasoning

81. In the following question, a number series is given with one term missing. Choose the correct alternative that

will same pattern and fill in the blank spaces: 1, 4, 9, 16, 25, x

(A) 35 (B) 36 (C) 48 (D) 49
82.1,9,25,49, 2, 121. What will come at the place of question mark?

(A)100 (B)91 (C) 64 (D) 81
83. In a certain code 'MISSIONS' is written as '"MSIISNOS'. How is '"ONLINE' written in that code?

(A) OLNNIE (B) ONILEN (C) NOILEN (D) LNOENI

84. If TOUR is written as 1234, CLEAR is written as 56784 and SPARE is written as 90847, find the code for
CARE

(A) 1247 (B) 4847 (C) 5247 (D) 5847
85. Arrange the given words Alphabetical Order and choose the one that comes first.

(A) Science (B) Scrutiny (C) Scripture (D) Scramble
86. A tree always has which of the following.........

(A) Shadow (B) Leaves (C) Branches (D) Roots
87. Which one of the following is always found in "Bravery"?

(A)Experience (B) Power (C) Courage (D) Knowledge

88. Pointing to a girl in the photograph, Ajay said, '""Her mother's brother is the only son of my mother's father."

How is the girl's mother related to Ajay?

(A) Mother (B) Sister (C) Aunt (D) Grandmother
89. Ravi said to Seeta, "Your mother is the daughter of my grandmother'. How are Ravi and Seeta related?
(A) Uncle — Niece (B) Father — Daughter (C) Cousin (D) None of these

90. One morning after sunrise, Suresh was standing facing a pole. The shadow of the pole fell exactly to his right.

To which direction was he facing?

(A) East (B) West (C) South (D) None
91. Arrange the words given below in a meaningful and Logical sequence.

1. Windows 2. Walls 3. Floor 4.Foundation 5.Roof 6.Room

(A)4,1,5,6,2,3 B)4,2,1,5,3,6 ©)4,3,5,6,2,1 (D)4,5,3,2,1,6
92. Arrange the words given below in a meaningful sequence.

1. Elephant 2.Cat 3.Mosquito 4.Tiger 5. Whale

(A)S5,3,1,2,4 B)3,2,4,1,5 ©)1,3,5,4,2 (D)2,5,1,4,3
93. Complete analogous pair: Moon : Satellite : : Earth : ?

(A) Sun (B) Planet (C) Solar System (D) Asteroid
94, Crime is related to Police in the same way as Flood is related to............

(A) Dam (B) River (C) Rain (D) Reservoir
95. As ‘Grain’ is related to ‘Salt’, similarly ‘Chip’ is related to which among the following options?

(A) Pottery (B) Wood (C) Grass (D) Glass
96. As ‘After’ is related to ‘Before’, similarly ‘Successor’ is related to which among the following options?

(A) Second (B) Past (C) Historic (D) Predecessor
97. You have made some silly mistakes which have been pointed out to you. You will:

(A) laugh it away (B) get angry (C) feel miserable (D) feel thankful
98. Choose the word which is least like the others word in a group?

(A) Calendar (B) Date (C) Day (D) Month
99. A person managing the front office of an organization should have..........

(A) patience (B) leadership (C) discipline (D) personality
100. Choose the word which is least like other words in the group.

(A) Zebra (B) Lion (C) Tiger (D) Horse
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English

Direction: Select the correct preposition to fill in the blank on the following sentences.

1. Gita is dismissed............. service.

(a) for (b) from (c) of (d)to
2. Ramesh argued.............. his teacher on this issue.

(a) for (b) against  (c) with (d) upon
3. Shyam is very fond .......... his pets.

(a) to (b) on (c) of (d) for
4. She was looking ........ her lost ring.

(a) at (b) up (c) in (d) for
5. What’s the time ....................... your watch?

(a) in (b) by (c)on (d) to

Direction: Select the word which is closest to the meaning of the bold word
6. Urban

(a) Grass (b) City (c) Village (d) Road
7. Diligent
(a) attentive (b) attitude  (c) willingness (d) hardworking
8. Thrust
(a) quest (b) reject (c) hamper (d) push
9. Tangible
(a) real (b) indefinite (c¢) meek (d) uproar
10. ETHNIC:
(a) Skin (b) Races (c) Small (d) Excessive

Direction: Complete the following sentence with the appropriate choice among the options
that follows:

11. Some very durable plastics .................. when exposed to sunlight.
(a) harden (b) stagnate (c) decay (d) lofty

12. Those who seek .............. from others must learn to forgive and forget.
(a) eniency (b) clemency (c) courtesy  (d) retribution

Direction: Select the word that is closest to the opposite in meaning of the word in bold
letter:

13. Adopt
(a) adjust (b) serve (c) reject (d) accept
14. Interior
(a) external (b) outside (c) extrinsic  (d) exterior
15. Fallacy
(a) aversion (b) truism (c) fruitful (d) wrong concept

General Awareness

16. With which of the following items is the trade name ‘Everest’ associated

(a) Biscuit (b) Spices (c) Noodles (d) Chocolate
17. Which of the following is not a private sector undertaking:

(a) B&B Hospital (b) yeti airlines

(c) Nepal Food Corporation (d) Gorkha Biscuits
18. Which of the following newspaper is published by Nepal Government?

(a) Annapurna Post (b) Kantipur Dainik (c) Rajdhani Dainik (d) Gorakhapatra
19. Himalayan Bank is......

(a) Joint venture bank (b) Public sector bank (¢) Development bank d) Finance company
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20. Which of the following places is not in the bus route from Mahendranagr to Dadeldhura?

(a) Budar (b) Attaria (c) Khodpe (d) Budhitola
21. Which of the following is a soft drink company?

(a) Glaxo ('b) Botlers Nepal (c) Birat Shoe (d) Druk
22. ‘Impossible is nothing' is the slogan of.._.

(a) Nike (b) Philips (c) Addidas (d) Nokia
23. The brand name ‘Polsar’ is associated with......

(a) Telivision (b) Computers (c) Car (d) Motor cycle

24. With which sport Naresh Bahadur Budhayaer is associated?

(a) Football (b) Badminton (c) Cricket (d) Volleyball

25. The Vice Chancellor of Far Western University is....-
(a) Jaya Raj Awasthi (b) Amar Raj Joshi (c) Amma Raj Joshi (d) K. P. Oli
26. To which Game is Bimal Gurung related?

(a) Football (b) Cricket (c) Boxing (d) Taekwondo
27. Headquarter of Far-western Development Region is located at .......

(a) Mahendranagar (b) Dhangadi (c) Dipayal (d) Dadeldhura
28. Which one is the smallest district of Nepal?

(a) Manang (b) Kanchanpur (c) Bhaktapur (d) Kirtipur
29. Which of the following items is the trade name Nepal lever associated?

(a) computer (b) medicine (c) biscuit (d) toilet soap
30. Which district is known for sugar industry?

(a) Bara (b) Kanchanpur (c) Nawal Parasi (d). Parsa

Business and Economics
31. Which one of the following accounting equations is correct?
(a) Assets = Owner's Equity (b) Assets = Liabilities + Owner's Equity

(c) Assets = Liabilities-Owner's Equity (d) Assets + Liabilities = Owner's Equity
32When Luco Pacioli, published his book on principles of Double Entry System

(a) 1944 (b) 1864 (c) 1494 (d) 1649
33. Journal is a book of
(a) Final Entry (b) Original Entry (c) Final Accounts (d) Ledger Accounts

34. An example of Real account is-

(a) Ram Account  (b) Purchases Account (c) Salary Account (d) Rent Account
35. Which one of the following is not correct in respect of Sole Proprietorship?

(a) One man ownership (b) Limited liability (c) Personal control (d) Total risk
36. Economics is the science which studies human behaviour as a relationship between ends and scare means
which have alternative uses.' Who gave this definition ?

(a) Adam Smith (b) Marshall (c) J. B. Say (d) Robins
37. What are the various factors of production?

(a) Land (b) Labour (c) Capital (d) All of the above
38. The balance of Petty Cash Book is

(a) an asset (b) an Income (c) a liability (d) an expenditure
39. The standard of living in a country is represented by its

(‘a) Poverty ratio (b) Unemployment  (c) National Income (d) Per capita income
40. Government receives

(a) Dividend (b) Interest (c) Tax (d) Bonus

41. The assets that can be converted into cash within 1 year or less are known as
(a) Current assets (b) Fixed assets (c) Intangible assets (d) Investments



42. Systematic recording of business transactions in books of account is

(a) Auditing (b) Book Keeping (c) Financial Accounting (d) Balance Sheet
43. Which of the following is a Personal Account ?

(a) Account of customer (b) Salary Account

(c) Telephone Expenses Account (d) Trade Market Account

44. Bank is an example of a

(a) Service provider  (b) Retailer (c) supplier  (d) producer
45. Bhatbhateni is an example of a

(a) Wholesaler (b) Manufacturer (c) Retailer ~ (d) Supplier
46. Which of the following is not the brand of watch?

(a) Rolex (b) Omega (c) Titan (d) Pearson
47. Nissan is brand of
(a) Motor (b) TV (c) Computer (d) Sunglass
48. Which of the following is not the Nepalese shoes company?
(a) Birat shoe co. (b) Liberty shoes
(c) Makalu shoes (d) Shikhar shoes
49. Which type of business organization issue share to public?
(a) Pvt. Ltd. (b) Co-operative
(c) Partnership (d) Public Ltd.
50. A co-operative society is generally known as the organization of
(a). Businessman (b) Exporter
(c) Members (d) Money lenders
51. Utility can be defined as
(a) demand (b) satisfaction (c) cost (d) price

52. Who is the writer of "wealth of Nation"?
(a)Adam Smith  (b) J.S. Mill (c) Devid Recardo (d) Robbins
53. To which country the market index "SENSEX" is related?
(a) Japan (b) Srilnaka (c) USA (d) India
54. The present governor of Nepal Rastra Bank is
(a) Yub Raj Khatiwada (b) Dipendra Bahadur Kshtri
(c) Chiranjivi Nepal (d) Maha Prasad Adhikari
55. A mortality table is used in.......
A) Banks B) Insurance Co C) Government offices D). NGO's

Math
56. What percent of 72 is 277
(a) 36% (b) 50%  (c) 66%% (d) 18%
57. The average weight of 3 boys is 53 pounds. Not one of these boys weighs less than 51 pounds. What is the
maximum possible weight in pounds, of any one boy?

(a) 53 (b) 55 (c) 57 (d) 60
58. Which of the following is the largest quantity?
(a)1/2+1/2 (b) 1/2 +1/3 () 1/3+1/3 (d)12+1/4
59. What is the smallest number divisible by 34 and 35?
(a) 1190 (b)1130 (c) 1280 (d) 1300
60. 45% of the students at a college are male and rest is female. What is the ratio of male and female students?
(a) 9/10 (b) 5/10 (c)9/11 (d)5/11

61. An article was sold for Rs. 830 at a loss of 17%. What would have been the selling price?
(a) Rs. 950 (b) Rs. 1000 (c) Rs. 980 (d) Rs. 1050



62. X gives 2 of his property to his wife and "2 of the rest of his son. The remainder is divided equally to his
two daughters. The share of each daughter is:
(a) 1/8 (b) 1/6 (c) Va (d)2/3

63. The wages of 10 workers for a six-day week is Rs. 1200. What are the one day’s wages of 4 workers?
(a) Rs. 40 (b) Rs. 32 (c) Rs. 80 (d) Rs. 24

64. In a class of 25 students, 12 students have taken Economics, 8 have Economics but not Political Science.

The number of students who have taken both Political Science and Economics is

(a)4 (b) 6 (©)5 (d)3
65. What is the average of first five multiple of 67
(a) 12 (b) 6 (3)18 (d) 24
66 . If the length of a rectangle is increased by 50% then its area is increased by:
(a) 20% (b) 30% (c) 40% (d) 50%
67. Two successive discounts of 20% and 15% is equivalent to a single discount of
(a) 18% (b) 24% (c) 32% (d) 36%
68. If 2X-Y=4, then 10X-5Y=
(a) 16 (b) 18 (c) 20 (d) 22
69. If at2b=2a+b, then a-b is
(a)2 (b)0 (©)5 (d) 1
70. If 2Y=5 then
(AY>25 (b) Y <25 ()Y =25 (dY=10
71. Double divided by half is
(a)4 (b) 8 ©9 (d) Infinite
72. How many numbers of two digits can be formed out of the four digits A, B, C and D?
(a) 16 (b) 8 (c) 10 (d) 12
73. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The sum is:
(a) Rs. 650 (b) Rs. 698 (c) Rs. 690 (d) Rs. 700
74. A vendor bought six toffees at Rs 5.00 At what price he must sell to gain 20%?
(a)3 (b)5 (c)4 (d) 6
75. The square root of 0.000625 is
(a) 0.0025 (b) 0.25 (c)2.5 (d) 0.025
76. A shopkeeper bought 300 pencils for Rs. 120. For how much should he sell a pencil so as to gain 15 %?
(a) 46 paise (b) 54 paise (c) 62 paise (d) 64 paise

77. In what time will Rs. 1800 yield a simple interest of Rs. 390 at the rate of 5 % per annum?

(a) 4 years 3 months (b) 4 years 4 months (c) 4 year 9 months  (d) None of these
78. If 8x+4=32, than 2x-1 =?

@9 (b) 8 (c)6 (d)5
79 . The average weight of 3 boys is 53 pounds. Not one of these boys weighs less than 51 pounds. What is the
maximum possible weight in pounds, of any one boy?

(a) 53 (b) 55 (c) 57 (d) 60
80. A salary of an officer being increased by 10%every year becomes 33275 in the third year. What was his
original salary?

(a) Rs. 23500 (b) Rs. 24500 (c) Rs. 25000 (d) Rs. 25500

Logical reasoning

Fill the blanks with appropriate letter pattern
81. SCD, TEF, UGH, ......... , WKL:

(a) CMN (b) UJT (c)VIJ (d)UT.
82 . FAG, GAF, HAL, IAH..................

(a) JAK (b) HAL (c) HAK (d) JAI



83. PQR:UVW:CDE.: .....

(a) XZY (b) GHI (c)HID (d) EGH
84. CMM, EOO, GQQ, ......... , KUU

(a) GRR (b) GSS (c) ISS (d)ITT
Find the odd one
85. (a) 36 (b) 26 (c) 96 (d) 63
86. (a) Peanut (b) Bean (c) Potato (d) Raddish
87. (a) Roshan (b) Rohan (c) Rabin (d) Rahul
88. (a) Darchula (b) Dang (c) Tansen (d) Kapilvastu
89. (a) cricket (b) Base ball (c) Football  (d) Film

Direction: Select the correct choice from the option given:
90.Camera: picture

(a) Writing: Pen (b) Sound box: sound (c) Cinema: TV (d) Song : Radio
91. Bird: nest :: Lion: .. ?
(a). jungle (b) cave (c) bush (d) thicket
92.4:16 :: 16: .7
(a) 64 (b) 96 (c) 156 (d) 256
93. Rose:love
(a) Jasmine: hate (b) Pigeon: peace (c) Crow: Ugly (d) Cow: clever
94. Kathmandu: Nepal
(a) Mumbeai: India (b) Sanghai: China (c) Tokyo: Japan (d) new York: USA

Direction: In questions 95 to 99 you are required to choose from the four diagrams marked a, b, ¢ and d.
the one that illustrates the relationship among the three given classes better than other.

©o D OO0

(a)
95. fox, tiger, cat

96. birds, parrot, mice

97. musicians, men, women

98. Asia, Europe Africa

99. people, students, house wives

100. Ram showed an old man and said “his son is my son’s uncle”. How is the old man related to Ram?

(a) Father  (b) Grandfather  (c) Brother  (d) Uncle
All The best
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Section - I: Verbal Ability
Direction: Select the proper proposition to fill in the blanks in the
following questions.

1. Hereminds me ................ his old accounting teacher.
a) for b) to c) of d) about
2. She always looks ........... herself in the mirror.
a) on b) in C) right d) at
3. Namita was stopped by the police for driving .......... 55 km ph.
a) at b) for c) to d) on
4. GO .oovvninnnn, these stairs until you reach the top floor.
a) through b) in c)up d) on

Directions: Select the word which is closest to the opposite in meaning
of the word in capital letters.

5. MODERATE

a) not easy b) non historic
6. DIPLORABLE

a) barren b) laudatory
7. PERCEPT

a) planning b) conduct c) dogma
8. PROFOUND

a) sleepy  b) asylum

c) nonstarter d) not extreme
c) acceptable d) regrettable
d) concept
c) abandon  d) deep

Directions: Select the word which is closest to the opposite in meaning
of the word in capital letters.

9. EXPAND

a) condense b) convert C) congest d) conclude
10. ARROGANT

a) cowardly b) egoistic  c¢) gentlemanly d) humble
11. GRACEFUL

a) rough b) expert c) awkward  d) miserable
12. PERTINENT

a) irrational b) irrelevant c) irregular  d) inconsistent

Directions: Choose the lettered expression that most nearly express the
meaning of the given idiom or phrase.
13. to crow over means
a) to criticized bitterly
b) to become unwanted
14. To come off with flying colors
a) agood star c) to attend grand party
b) good results of constant effort d) to achieve distinction
15. To smell a rat
a) to look for arat
b) to be upset
16. Throw a party
a) leave the party c) throw a food in the party
b) celebrate d) start conflict in the party
Direction: Select the best word, which correctly fills the blanks.
His talk used to be of wit and humors. He liked reading. He was a

c) to exult in triumph
d) to compromise

c) to cause misunderstandings
d) to suspect trick or foul play

voracious reader and would pore over books ............... Q) R a
wide range of interest as .......... (18).eeeeenne.. he got them. He had
.......... (19)............. a standing order to two bookshops
................. (20)............. city.
17.

a) covering b) barring c¢) including d) containing
18.

a) firmly b) quickly C) soon d) urgently
19.

a) offered b) proclaimed c) intimated d) given
20.

a) at b) within c)in d) inside

Section - 11: Quantitative Ability
Direction: Find the best answer for the questions given below.
21. /(31— 6)(16 + 9) Equals
a) 5 b) 10 c) 25 d) 30
22. Hitesh purchased a certain quantity of wheat at the rate of Rs.1000 per
quintal. 20 percent of the wheat was spoilt. At what price per quintal
must be sell the remainder to gain 20% on his outlay?
a) Rs.1400 b) Rs.1500 ¢)Rs.1300 d) Rs.1200




23.

24,

25.

26.

217.

28.

29.

30.

3L

32.

33.

34,

35.

What least number must be added to 1056, so that the sum is
completely divisible by 23?

a) 2 b) 3 c) 18 d) 21
241.6 X 0.3814 X 6.842 .

Value of is equal to
0.4618 X 38.28 X73.65

a) 0.28 b) 0.48 c) 0.68 d) 1

A salary of an officer being increased by 10% every year becomes Rs.
48400 in the third year. What was his original salary?

a) Rs 45000 b) Rs 44000 c) Rs 42000 d) Rs 40000
Of which number is 60, 80% of?

a) 60 b) 72 c) 75 d) 80

When 10,000 is increased by 0.1%, we get

a) 10001 b) 10010 c) 10100 d) 11000

In how many years will a sum of money become double at 10% per
annum simple interest?

a)5 b) 8 c) 10 d) 20

The average of ten numbers is 100; two integers are multiplied by 3, the
average of the new set of number will be.......... ?

a) 34 b) 30 c) 28 d) 15

What is the 0.5 % of 100,000?

a) 0.05 b) 0.50 c) 50 d) 500

The population of a country doubled every 10 years from 1989 to 20109.
What was the increase percent in population during this time?

a) 100% b) 300% c) 700% d) 800%

The ratio and difference of two numbers are 8:11 and 135 respectively.
The smaller number is

a) 270 b) 300 c) 330 d) 360

The percent worth of Rs.2040 due 4 years hence, reckoning interest at
5% p.a.is Rs....,

a) 1650.50 b) 1675.30 ) 1700 d) 1678.31

Worker A completes a task in 8 days and worker B completes the
same task in 10 days. If both A and B work together, in how many
days will they complete the task??

a) = b) = 0) = d) =

A mother is twice as old as her son. If 20 years ago, the age of the
mother was 10 times the age of the son, what is the present age of the
mother??
a) 38 b) 40

c) 45 d) 49

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

What is the compound interest on Rs. 2500 for 2 years at the rate of
interest 4% per annum?

a) Rs 180 b) Rs 204 c) Rs208 d) Rs210

A sum of money is to be divided among three persons A, B, and C at the
ration of 4:9:7. If the difference between the shares of B and C is
Rs.1000, the difference between the 50 percent shares of A and C will
be.

a) Rs.750 b) Rs.1500
10, 25, 45, 54, 60, 75, 80
a) 10 b) 45 c) 54 d) 75
Find odd one out 24, 36, 53, 72, 96

a) 72 b) 36 c) 24 d) 52
1, 4, 9, 16, 23, 25, 36

a) 9 b) 23 c) 25 d) 36

Section - 111: Logical Reasoning
Part and whole relationship e.g. House: Room

a) Struggle: Fight b) Transport: Car
c) School: College d) Boy: Girl

€) Rs.1600  d) Rs.1800

Select the pair wherein the words have closest relationship to the
original pair.

e.g. Gill: Fin

a) Salas: Rice b) Sea: Fish

¢) Kill: Bomb d) Question: Team

Agra: Tajmahal :: Palpa: ?

a) Srinagar  b) Ranimahal c) Kesharmahal d) Tansen

Darkness: Lamp

a) Fatigue: Exercise

c) Medicine: IlIness
Bus: Driver

a) Cook: Kitchen

¢) War: Soldier

PSXM: QRYL: BFTV: ?

b) Thirst: Water
d) Study: Classroom

b) Class: Student
d) Machine: Operator

a) AESU b)CEUV  ¢)DHVX  d)CGUW
NOPQ: PMRO: ABCD: ?
a) CZEB b)CDEF  ¢)YZAB  d)CDAB



48. Blood is related to circulation in the same way at Hormone is related
170 SR ?

a) Ejection Db) Control  c) Co-ordination d) Digestion
49. Find the odd one out

a) lecturer b) professor c) principal  d) explorer
50. Find the odd one out

a) cat b) camel c) dog d) fox
Direction: Find out the wrong number in the following series: (51 and

52)
51. 35, 39, 51, 65, 66

a) 35 b) 51 c) 66 d) 65
52. 808, 408, 208, 108, 68

a) 68 b) 208 c) 808 d) 108

53. If the day after tomorrow is Friday; what day was it yesterday?
a) Thursday b) Wednesday c) Monday d) Tuesday
54. P has occurs only when Q has occurred. If Q has occurred,
Therefore
a) P has not occurred
c) P must have occurred

b) P may have occurred
d) none of the above

55. A human being can always ............. where an animal cannot.
a) hear b) see C) reason d) listen

56. Which of the following will appear third in the English dictionary?
a) question b) quarell c) quack d) quer

57. Find the odd one out
a) car b) cycle c¢) motorcycle d) scooter

Direction: Choose the word which is least like other words in a group:
58.  a) banana b) orange c) pineapple d) lemon

59. a) one b) three ¢) fifth d) seven

60. a)computer b) X—-Ray c)television d) radio

Section - 1V: General Awareness
Direction: In each of the following questions, select the best answer

choice.
61. Which of these is not cash crop?
a) cotton b) jute c) wheat d) tea
62. The head quarter of the Asian Development Bank (ADB) is in
a) manila b) jakarta c) honolulu  d) nairobi

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

The capital of IMF is made up of the contribution of the
a) credit c) deficit financing

b) member nations d) borrowings

Which of the following gives largest revenue to GON?
a) excise duty C) remittance

b) entertainment tax d) property tax

Nepal joined UN in:

a) 1855 AD b) 1955 AD ) 2005 AD d) 2000 AD
Which acid is commonly found in curd?
a) citric acid b) acetic acid

c) hydrochloric acid d) lactic acid

Which country is known as the world's sugar bowl?

a) China b) India c) USA d) Cuba
Which district is famous for jute industry?

a) Bara b) Biratnagar c) Dhankuta d) Dang
Silver fishis ................. a

a) a fish c) a fish made for silver
b) an insect d) a term used in politics
The moon is a

a) planet b) star c) satellite d) comet

Which of the following is the largest contributor to the GDP Nepal?
a) manufacturing sector C) service sector

b) corporate sector d) cooperative sector

Bulls and bears are the terms associated with

a) parliamentary affairs C) racing

b) stock exchange d) bull fights

Where was the first world cup football held in 19307

a) Germany b) France c) Uruguay  d) Brazil

Which country does not have police force or jail?

a) Iceland b) Poland c) Egypt d) France
The air '‘Biman' belongs to
a) Nepal b) India c) Bangladesh d) Sri Lanka

Who is known as 'Snow Leopard'?
a) Lakpa Sherpa ¢) Edmund Hillary

Angrita Sherpa d) Tenging Sherpa
How many legs does a butterfly have?
a) 4 b) 6 c)8 d)2



78.

79.

80.

Direction:

Who has received Madan Puraskar for three times?
a) Madhav Prasad Ghimire c) Parasu pradhan

b) Satya Mohan Joshi d) Gopal Prasad Rimal
Which is the color that a bee cannot identify?

a) red b) yellow c) black d) pink
"Kanchanjunga" lies in which district?

a) Solukhumbu b) Taplejung

c) Panchthar d) Sankhuwasabha

Section - V: Business and Economics

For each of the questions below, select the best of the answer

choices given.

81.

82.

83.

84.

85.

86.

87.

88.

89.

What is the full form of WTO?

a) World Travel Organization ~ ¢) Wimbledon Tennis Office
b) World Trade Organization d) Women Travel Organization
Which of the following can be considered as seasonal industry?
a) cement Db) sugar c) automobile d) power
Which of the following is traditional form of business?

a) joint stock company c) sole trading concern

b) partnership firm d) cooperatives

Which of the following is known as father of economics?

a) Marshal b) Keynes c) Adam smith  d) J. S. Mill
Which of the following is known as father of accounting?

a) lynch b) Luca Pecioli

c) Houngreen d) F. W. Taylor

In the case of perfect elasticity, the demand curve is

a) vertical b) horizontal c) flat d) steep
.................. is the base of market planning?

a) Demand estimation c) Demand function

b) Demand forecasting d) Demand analysis

The distinction between variable cost and fixed cost is relevant only in
a) long period b) short period

c) medium period d) mixed period

Which of the following is not an economic activity?

a) production b) profession

¢) social service d) trading in goods

90.

91.

92.

93.

94,

95.

96.

97.

98.

99.

In which industry are Oil refinery and sugar mill classified?
a) primary c) territory

b) secondary d) none of the above

Which of the following is not a management function?

a) planning b) controlling

C) cooperating d) staffing

What do you mean by mixed economy?

a) modern and traditional industry

b) public and private sectors

c) foreign and domestic investments

d) commercial and subsistence farming

Long term assets having not any physical existence but, processing a
value are called.

a) investment c) fixed assets

b) current assets d) intangible assets

What is the main economic problem faced by the society?

a) unemployment C) poverty
b) inequality d) scarcity
Which of the following element is not a part of communication process?
a) decoding C) receiver
b) communication d) channel

Which is the central bank of Nepal?

a) Nepal Bank Limited c) Rastra Banijya Bank

b) Nepal Rastra Bank d) Nepal Investment Bank
Which of the following is not a current asset?

a) machinery C) cash

b) inventory d) debtors

Car and petrol are

a) Complimentary goods

b) Substitute goods

Cost plus pricing is also called
a) margin pricing

b) full cost pricing

¢) Supplementary goods
d) Reserve goods

c) mark up pricing
d) all of the above a

100. The function of combining other factors of production is done by

a) land b) labor c) capital d) entrepreneurship

*The End*
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INSTRUCTIONS

e Use the Answer Sheet for answering the questions.

¢ Indicate your answer on the Answer Sheet by darkening the correct
answer choice. Do not write anything else on the Answer Sheet.

e Read directions given for questions carefully before answering the
questions.

Directions: In questions, sentences are given with blanks to be filled in with an
appropriate word (s). Four alternatives are suggested for each question. Choose

the correct alternative out of the four:

1. The chairman is ill and we’ll have to ............... the meeting for a few days
a. puton b. put of
C. put away d. put off
2. The cat and the dog havea.................. enemy in the rat.
a. same b. common
c. mutual d. similar
3. Hetoldmethathe................ watching the movie.
a. is finished b. was finished
c. has finished d. not finished
4. Heisvery good............... making stories.
a.in b. about
c. at d. for
5. Tdomywork.............. carefully to make mistake.
a. so b. very
c. too d. more
6. The price of petrol is sure to ............ within a few days.
a. increase b. increasing
c. toincrease d. increased
7.  The shirts were ...... cheap that | brought three at a time.
a. too b. so
c. too much d. much
8. They got the lunch ready ................. 12.30
a.in b. by
c. for d. until
9. Imade myteacher..................... all the problem.
a. to solve b. solve
c. solved d. solving
10. Iprefer coffee.................. tea.
a. than b. then
c. to d. from



11

12.

13.

14.

15.

.Heisusedto............. to school by bus.
a. going b. goes
c. go d. to go
No sooner had the thief opened the windows ...... the police arrested him.
a. then b. than
c. when d. after
The monument .................... long ago.
a. is built b. has been built
c. was built d. has built
I found his behavior ......................
a. impressive b. impressed
C. impress d. impresses
I got all my documents .............ccovvuivninnnnnn
a. to type b. typed
c. typing d. type

Directions: Answer the question choosing the correct alternative out of the four:

16.

17.

18.

19.

20.

If 5=V, how does 99 written in roman numeral system?
a. IXIX b. IXX
c. XCIX d.IC

If 4/7 of 350 students appeared in entrance test are girls and 7/8 of girls got
admission. What percentage of girls did not get admission?

a. 10% b. 15.5%

c. 12.5% d. 13.7%

In 1km race, Mr. A beats Mr. B by 70 meters and Mr. B beats Mr. C by 80
meters then by how much does Mr. A beats Mr. C in the race?

a. 145m b. 150 m

c. 135m d. 140m

After paying an income tax of 15%, a man has Rs. 22950. What is his income?
a. Rs 30000 b. Rs 29000
c. Rs 25000 d. Rs 27000.

The single discount equivalent to the successive discount of 10%, 20% and 25%
is...
a. 55%
c. 57%

b. 46%
d. 40%

21.

22.

23.

24

25.

26.

27.

28.

29.

30.

The marked price of an electric fan is Rs. 2000. If a discount of 20% is allowed
in the fan and 13% VAT is added on it, then sale price of elected fan will be...

a. Rs 1808 b. Rs 1900

c. Rs 1725 d. Rs. 1850

For what value of x will be the sequence x+2, 3x, 4x+1 is in A.P?
a.2 b. 4

c.5 d.3

Which of the following numbers gives 240 when added to its own square?
a. 15 b. 16
c. 18 d. 20

. A car can cover a distance of 522 km on 36 liters of petrol. How far can it travel

on 14 liters of petrol?

a. 213 km b. 223 km
. 302 km d. 203 km
Which term of the sequence 9, 3, 1,................ is 1/27?
a. 7" term b. 6" term
c. 5" term d. 8" term
The  Practice of  Management  written by  ...................

a. Peter F. Drucker. b.Terry.
c. Louis Allan. d. Henry Fayol.

Luther Gulik classifies the function of management as.............
a. POSDCORB b. POSTCARD

c. POSDCORB d. POSDORBC

Management is defined as science because...
a. It is developed by scientist b. It produces scientific product
c. Itis followed by people d. It is based on principle/s
Which is the principle developed by Henry Fayol?

a. Unity of command b. Centralization
c. Espirit De Corps d. All of the above

What is organizational structure?
a. A building
c. A framework

b. A group of people
d. None of the above



31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Delegation of authority means...

a. providing freedom
c. providing equipment

b. providing task
d. providing salary

Programmed decision is

a. Decision for regular program
c. Decision for regular meeting
Motivation is related to...

a. Task b. Freedom

c. Encouragement d. Position

In participative management employees are provided opportunity to...
a. Participate in important function b. Participate in training

c. Participate in rally d. Participate in regular task
How many concepts are developed in marketing management?

b. Decision for regular problem
d. Decision for regular operation

a. Three b. Four
c. Five d. Six
"Marketing comprises both buying and selling activities." who said so?
a. Gray Armstrong b. Philip Kotler
c. American Marketing Association d. Prof. Pyle

.........are generally low priced items that a consumer buys frequently.
a. shopping goods b. convenience good
c. special goods d. unsought goods.

Which of the following is correct definition of management?
a. Management is an art or technique of getting things done.
b. Management is a process of planning, organizing, staffing, directing and
controlling
c. Management is set of activities directed and effective utilization of resources
in the pursuit of one or more goals
d. All of the above

What is business?
a. Buying and selling of goods
c. Trade

b. Commerce and industry
d. None of the above

Sole Trading Concern is a business organization where there is/are...
a. One owner b. Two owners
c. Three owners d. Four owners

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

In Joint Stock Company shareholders have to bear...
a. Unlimited liability b. Limited liability
c. Guarantee liability d. No liability

What must be ratio of investment of government in Government Company?
a. At least 41% b. At least 51%
c. At least 61% d. At least 71%

What is full form of NCDB ?

a. New Cooperative Development Board

b. Nepal Cooperative Development Board

c. Nepali Cooperative Development Board

d. National Cooperative Development Board

Public Enterprises is established by...

a. Government b. Large group of public

¢. Individual Person d. Society
Multinational Company means business organization performing business in...

a. One country b. One state

¢. Two or more states d. Two or more countries
Real Account is related to...

a. Assets b. Individual

c. liability d. Income and Expenditure
Net profit shown in ...

a. Trading a/c b. Purchase a/c

c. Sales a/c d. Profit & loss a/c
Calls in advance means:

a. Received amount in calls b. Amount not received in call

¢. Advance received in call d. None of the above
Cash collection from customer is related to...

a. Operating activities b. Financial Activities

c. Investment Activities d. Management activities

Total sales means:
a. cash purchase & credit purchase
c. cash purchase & credit sales

b. cash sales & credit sales
d. none of them

Proposed dividend is calculated from...
a. Debenture
¢. Equity share capital

b. preference share capital
d. General Reserve



52.

53.

54,

55

56.

57.

58.

59.

60.

61.

62.

63.

Appreciation on land shown in:
a. Trading a/c
c. Balance sheet

b. P/L appropriation a/c
d. profit & loss a/c

Contra Entity related to...
a. Ram deposited into bank
c¢. Withdrawn for personal use

b. cash deposited into bank
d. none of the above

Shyaha shrestha pranali included...
a. Shyaha
c. Dhapot

b. Awarje
d. All of the above

Quick Ratio is similar to...

a. Current Ratio b. Debt equity ratio

c. Liquid ratio d. All of the above

Reducing balance of depreciation method is also known as...

a. Straight line method b. Diminishing balance Method

c. Original cost method d. None of the above

Loss on sale of fixed of assets is related to...

a. Revenue loss b. Abnormal loss

c. Capital loss d. None of the above
Shareholder receives from the company...

a. Interest b. Dividend

c. Commission d. All of the above
Provision for doubtful debts is calculated from...

b. Furniture
d. Bills payable

a. Creditors
c. Debtors
Purchase return is also known as...

a. Return inward
c¢. Return outward

b. Carriage outward
d. None of the above

Authorized capital is similar to...
a. Share capital
c. Nominal capital

b. Issued capital
d. All of the above

Promoters’ share is also known as. ..
a. Equity Share
c. Preference Share

b. Bonus Share
d. Founder Share

Working capital is...
a. Current Assets + Current Liabilities

64.

65.

66.

67.

68.

69.

70.

71.

72.

b. Current Assets-Current Liabilities

c.Botha &b
d. None of the above

Which account is not a liability account?

a. Accounts payable
c. Cash

Financial accounting reports include

a. profit and loss account

c. balance sheet and auditors report

“www” stands for.......
a. World Wide Web
c. World Wide Wait

b. Accrued expenses
d. Notes payable

b. directors reports
d. all of the above

b. World Wide wares
d. World Wide War

‘OS’ computer abbreviation usually means?

a. Order of significance
c. Operating System

Who developed Yahoo?

a. Dennis Ritchie & Ken Thompson

c¢. Vint Cerf & Robert Kahn

b. Open Software
d. Optical Sensor

b. Devid Filo & Jerry Yang
d. Steve Case & Jeff Bezos

The equipment needed to allow home computers to connect to the internet is

calleda........
a. Modem
¢. Monitor

What is the full form of RAM?
a. Random Access Memory
c. Read Access Memory

Microeconomics deals with.............
a) The measurement of national income

b. Gateway
d. Peripheral

b. Rapid Access Memory
d. Raw Access Memory

b) Fiscal and monetary policy of the government

¢) Product pricing in particular market
d) The total output of the economy

In case of............ goods, there is a positive relationship between price and

quantity demanded of the commaodity.

a) Inferior goods
¢) Neutral goods

b) Normal goods
d) Giffen goods



73.

74.

75.

76.

77.

78.

79.

The consumer remains in equilibrium consuming two goods X and Y

MUy _ Px b MUy Py
3 MU, P, ) MU, <P,
MUy Px
b) MU, =P, d) None of the above

In describing a given production technology, the short-run is best described by
the period......
a) Up to six months from now
c) As long as all inputs are fixed

b) Up to five years from now
d) As long as at least one input is fixed

Firms that operate in a perfectly competitive market are said to be “small”
relative to the market. Which one of the following best describes this smallness?
a) The individual firm has fewer than 10 employees
b) The individual firm faces horizontal sloping demand curve
¢) The individual firm has assets of less than Rs. 20 lakh
d) The individual firm is unable to affect market price through its output
decisions

.................. leads to an upward shift in the demand curve for the
commodity.

a) A fall in price of the commodity

b) An Increase in consumer’s income

c) A Fall in the price of substitute goods

d) An increase in price of complementary goods

A horizontal supply curve parallel to the quantity axis implies that the
elasticity of supplyis

a) Zero  b) Infinite c) Equal to zero d) Greater than zero but less than one
The average product of labor is maximum when marginal product of
labor

a) Is equal to average product

c) Is less than average product

b) Is greater than average product
d) None of the above

In a free market economy, when consumers increase their purchase of a
commodity and the level of _ exceeds __ then price, tends to rise.

a) Demand, supply b) Supply, demand

c) Prices, demand d) Profits, supply
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An elasticity co-efficient of 0.5 means that....................
a) The demand curve is perfectly elastic
b) The relative change in price is less than in quantity demanded
c) The relative change in price is greater than in quantity demanded
d) The relative change in price and quantity demanded are equal

The total utility becomes maximum when marginal utility is ......................
a) minimum b) maximum C) zero d) negative

The production possibility curve is concave to the origin because of..............
a) Decreasing marginal opportunity cost
b) Increasing marginal opportunity cost

¢) Constant marginal opportunity cost d) None of the above

Demand is said to be elastic when percentage change in price
1S.ciiiinnnns percentage change in quantity demanded of the commodity

a) Greater than b) Less than

c) Equal to d) None of the above

The long run economic profit of a competitive firm is equal to zero because

a) Large number of sellers and buyers
c) Free entry and exit of firms

b) Homogeneous products
d) None of above

Firm is a price taker in........... market
a) Monopoly b) Perfect competition
c) Oligopoly d) Duopoly

GDRP is greater than GNP when net factors’ income from abroad is............

a) Negative b) Zero c) Positive d) None of the above
Average cost is equal to marginal cost when average cost is...............
a) zero b) maximum €) minimum d) None of the above

A profit maximizing firm is supposed to be in equilibrium when...............
a) MR >MC b) AR > AC

c) MR=MC d) AR=AC

There is negative income elasticity of demand incase of .............

a) Substitute goods b) Complementary goods

¢) Normal goods d) Inferior goods



90. An increase in price of............... goods leads to increase in demand for the

commodity.
a) Complementary goods b) Giffen goods
¢) Substitute goods d) Inferior goods
91. The price of petrol is sure to ............ within a few days.
a) increase b) increasing
c) to increase d) increased
92. Which is the first magazine in the Nepali language?
a. Gorkha Patra b. Nepal Patra
¢. Gorkha India Life d. Nepal Vani
93. What is called a sheet placed in front of the book and behind?
a. First leaf b. Cover leaf
c. Fly leaf d. Main leaf
94. What name is known next to the Bhandarkhal Festival?
a. Thapa festival b. Kot festival
b. Narayanhiti festival d. Basnet festival

95. What is the real name of ‘Bairagi Kaila’?
a. Til Bikram Nembang b. Til Bahadur Nembang
c. Nar Bikram Nembang d. Hit Bikram Kaila

96. Which mountain is known as White Himal?

a. Annapurna b. Machhapuchhre
c. Dhaulagiri d. Api

97. Which number should come next in the series, 48, 24,12............. ?
a.8 b.6
c.4 d.2

98. RQP, ONM, ....., IHG, FED, find the missing letters.
a. CDE b. LKI
c. LKJ d. BAC

99. PETAL: FLOWER
a. PEN: PAPER b. ENGINE: CAR
c. CAT: DOG d. BALL: GAME

100. Peter is in the East of Tom and Tom is in the North of John. Mike is in the
South of John then in which direction of peter is Mike?
a. South-East b. South — West ¢. South d. North East
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